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Test Questions 1 Test Assignment

Question 1   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

Term 2 Paper 1


Section A


Questions 1 to 4 carry 1 mark each.

Questions 5 to 16 carry 2 marks each.

For each question, four options are given. One of them, is the correct answer.

Make your choice.


Which one of the following has the digit 3 in the hundreds place?

A) 3549

B) 4138

C) 9483

D) 7346

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,393

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

How many tens are there in 4280?

A) 8

B) 80
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C) 428

D) 280

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,396

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

What is 2 thousands, 4 tens and 12 ones in numerals?

A) 252

B) 2052

C) 2412

D) 2512

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,399

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

Complete the number pattern.


3954, 3924,  _______ , 3864, 3834

A) 3624

B) 3894

C) 3954

D) 3884

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,404

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 3 Math » Primary 3 Math (Term 2) 2 pts
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Find the difference between 4942 and 6073.

A) 1131

B) 1259

C) 3421

D) 11015

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,407

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 6   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Find the product of 141 and 6.

A) 12

B) 147

C) 541

D) 846

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,409

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 7   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

A packet of 64 sweets is shared equally among 8 children. How many sweets does each child get?

A) 72

B) 56

C) 6

D) 8

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,412

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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Question 8   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

What is the quotient when 481 is divided by 7?

A) 84

B) 68

C) 42

D) 3

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,415

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 9   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

At a funfair, Rachel sold 324 pancakes and had 212 pancakes left. How many pancakes did she have
at first?

A) 101

B) 112

C) 412

D) 536

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,420

 Answers
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Question 10   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Kevin saves $721 in a month. How much does he save in 4 months?

A) $ 256

B) $ 725

C) $ 2784

D) $ 2884

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,424
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 11   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

What is the missing number?


$ 6.35 + ______ = $ 10

A) $ 1.95

B) $ 3.65

C) $ 4.75

D) $ 5.35

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,435

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 12   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

What is the amount of money shown in the purse?


A) $ 89.50

B) $ 94.50

C) $ 114.30

D) $ 121.45

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,476

 Answers
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Question 13   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

A farmer had 1643 eggs. 421 of the eggs were duck eggs. The rest were chicken eggs. How many
more chicken eggs than duck eggs did he have?

A) 801

B) 1222

C) 1842

D) 2064

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,479

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

What is the value of the ♥?


   2     0    ♥     8

+ 3    7    5     3

_______________


    5    ♥    4     1


_______________

A) 5

B) 6

C) 8

D) 4

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,493

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 15   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

When my number is divided by 7, I have a quotient of 12 and a remainder of 2. 

What number am I?

A) 5

B) 42
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C) 82

D) 86

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,499

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 16   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Nina and Amanda have 6346 dominoes altogether. After they gave away 146 dominoes, Amanda has 3
times as many dominoes as Nina. How many dominoes does Nina have now?

A) 1241

B) 1550

C) 1842

D) 6200

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,500

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 17   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

Term 2 Paper 2


Section B


Questions 17 to 22 carry 1 mark each.

Questions 23 to 34 carry 2 marks each.

For questions  which require units, give your answers  in  the units stated.


Write 5,493 in words.

Accepted answers:

Five thousand, four hundred and ninety-three

Five thousand four hundred and ninety-three

Five thousand, four hundred and ninety three

Five thousand four hundred and ninety three

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,878
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 18   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

What is the missing number in the pattern below?


998, 2 000, 3002, _______ , 5006

Accepted answers:

4004

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,881

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 19   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

7812 – 561 = ___________

Accepted answers:

7251

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,882

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 20   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

In 3842, the digit 8 is in the ________ place.

Accepted answers:

hundreds

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,884

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 21   Primary 3 Math » Primary 3 Math (Term 2) 1 pt
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Use all the digits below to form the smallest 4-digit even number.


Accepted answers:

3048

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,887

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 22   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

Study the pattern below. Type the number that is wrongly placed in this pattern.


7, 14, 21, 26, 35, 42, 49

Accepted answers:

26

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,891

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 23   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Mona packed 348 chocolates in bags of 8. How many chocolates are left unpacked?

Accepted answers:

4

4 chocolates

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,895

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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Question 24   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Diana has 5 coins in her pocket shown below. The total value of the coins is

$1.05. What is the value of the fifth coin?


Accepted answers:

5 cents

5

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,898

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 25   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Claire is 8 years old. Her cousin is twice her age. How old is her cousin in 7 years' time?

Accepted answers:

23

23 years

23 years old

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,899

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 26   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Factory X, Y and Z made a total of 719 pencils. Factory X and Y made 472 pencils. Factory Y and Z
made 399 pencils. How many pencils did Factory Y make?

Accepted answers:

152

152 pencils

Question Type: Free Text
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Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,906

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 27   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

A certain number of coins is shared equally among a group of 5 pupils and each pupil received 9 coins.

The same number of coins is shared equally among a second group of pupils and each pupil received
3 coins.

How many pupils are there in the second group?

Accepted answers:

15

15 pupils

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,910

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 28   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Accepted answers:

10

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,911

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 29   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Jane had some money at first. She bought a shoe for $742 and gave the rest of her money equally to
her 3 children. Each child received $64. How much money did Jane have at first?

Accepted answers:

$ 934
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$934

934

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,914

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 30   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

6 x ______ = 5 x 54


What is the missing number?

Accepted answers:

45

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,915

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Sara has 2103 coins. Mona has 1423 more coins than Sara. How many coins does Mona have?

Accepted answers:

3526

3526 coins

Question Type: Free Text
Date Added: Sun 9th Feb 2020
Last Modified: N/A
QID#: 18,651,918

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 32   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Nancy bakes 6486 cupcakes for a charity fair. She packs them into boxes.

Each box can hold 7 cupcakes. How many boxes does she need to pack all her cupcakes?

Accepted answers:

927

927 boxes
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Question 33   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Mrs Kim has $29. She wants to buy 2 different items from the textile store. Choose the two items that
she can buy with the money she has.


A) Blouse and Shorts

B) Shorts and Cap

C) Cap and Dress

D) Dress and Blouse

Question Type: Multiple Choice
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Question 34   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Study the picture below.

It shows lamp posts placed at 3 m apart.

The total distance from the first lamp post to the last lamp post is 15 m apart. How many lamp posts
are there?
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Accepted answers:

6

6 lamp posts
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Question 35   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

Term 2 Paper 3


Section C


There are 2104 girls in a school. There are 194 more girls than boys.


a) How many boys are there in the school?

Accepted answers:

1910

1910 boys
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Question 36   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

There are 2104 girls in a school. There are 194 more girls than boys.


b) How many children are there in the school?

Accepted answers:

4014
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4014 children
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Question 37   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

There were 5 classes going on a study tour. Each class had 25 pupils. One adult accompanied every
10 pupils. 


a) What is the total number of pupils going for the study tour?

Accepted answers:

125

125 pupils
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Question 38   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

There were 5 classes going on a study tour. Each class had 25 pupils. One adult accompanied every
10 pupils. 


b) What is the least number of adults needed for the study tour?

Accepted answers:

13

13 adults
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Question 39   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Mr Chong and Mr Stan sold a total of 851 meatballs. Mr Chong sold 451 fewer meatballs than Mr Stan. 
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a) How many meatballs did Mr Chong sell?

Accepted answers:

200

200 meatballs
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Question 40   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

Mr Chong and Mr Stan sold a total of 851 meatballs. Mr Chong sold 451 fewer meatballs than Mr Stan. 


b) How many meatballs did Mr Stan sell?

Accepted answers:

651

651 meatballs
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Question 41   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

At first, Deepa had $482 more than John. After Deepa bought a television, she had $76 less than John.


a) What is the cost of the television? Choose the correct equation.

A) 482 - 76 = $ 406

B) 482 + 76 = $ 556

C) 482 - 76 = $ 404

D) 482 + 76 = $ 558

Question Type: Multiple Choice
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Question 42   Primary 3 Math » Primary 3 Math (Term 2) 1 pt

At first, Deepa had $482 more than John. After Deepa bought a television, she had $76 less than John.


b) What is the cost of the television?


The television costs $ ________.

Accepted answers:

$ 558

$558

558
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Question 43   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

At first, Deepa had $482 more than John. After Deepa bought a television, she had $76 less than John.


b) John had $99.90, how much money had Deepa left?

Accepted answers:

$ 23.90

$ 23.9

$23.90

$23.9

23.90

23.9
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Question 44   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

A total of 63 oranges and bananas are placed equally into 7 bags. There are 5 oranges in each bag.


a) How many bananas are there altogether?

Accepted answers:

28

28 bananas
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Question 45   Primary 3 Math » Primary 3 Math (Term 2) 2 pts

A total of 63 oranges and bananas are placed equally into 7 bags. There are 5 oranges in each bag.


b) How many oranges are there altogether?

Accepted answers:

35

35 oranges
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Question 46   Primary 3 Math » Primary 3 Math (Term 2) 4 pts

A shopkeeper sold 3 types of fruits. He sold 3 times as many oranges as apples. He sold 40 more
bananas than apples. He sold a total of 590 fruits altogether.

How many apples did he sell?

Accepted answers:

110

110 apples
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